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Correction du Test n° 3

Sujet A

2. On pose 21 = —(V/3+1) et 29 = 1 +1.

21 —(V3+1i) JLloi ~V3—i+ivV3+i®  —1-v3+i(V3-1)
29 141 1—4 2 - 2
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Correction du Test n° 3
Sujet B
1.
2. On pose z1 = 1+1i 2o =+V3+1 et Z:zi)’zg

(a) 23 = (1 +1)2(1+1) = 2i(1 +i) = -2+ 2i
7 =2}z = (=242 (V3 +i) = —2v3 - 21 + 23+ 2i2 = -2 — 2/3 +i(2V/3 - 2)

(b) 1 =1+1i= \@e%r donc 2} = ﬂ?)e% = 2\/56%

21:\/§+i:2<\f+;> — 2%

7 = 4\/§e¥+%r = 4\/§e1}§7r

1w\  Re(Z) -1-v3 . (llx\ _ Im(Z) V3-1
0w () =" = () =T -

Mme Bouquier Page 1/1 Lycée Jean Perrin Marseille



